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In an open economy, autonomous consumption expenditure (C) is $200 billion, investment (I) is $300
billion, and government expenditure () is.$160 billion. The marginal propensity to consume is 0.80 and
net taxes (T) are $200 billion. Exports (X) are $300 billion and imports (M) are $100 billion. Assume
that net taxes and imports are-autonomous and the price level is fixed.

(1) (5%) Calculate the equilibrium expenditure:

(2) (5%) Calculate the expenditure multiplier.

Now assume that the country has exports of $400 million and imports become M = 0.3Y, where Y is
real GDP. Other information remains the same.

(3) (5%) Calculate the equilibrium expenditure.

(4) (5%) Calculate the expenditure multiplier.

(5) (5%) Compare your answers in questions (2) and (4), and provide an economic interpretation for their
difference.
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=~ Consider a consumer’s choice for twe,goods#x"and y

The consumer’s income is Y=32, the price of good x is Px=%4, and the price of good y is Py=§1.

What will be the optimal consumption bundle?
(b) (10%) Suppose the price of good x increases to Px=$16. Calculate the total effect, substitution effect and

income effect of the price change on the quantity demanded of good x.
(¢) (10%) Draw a graph to show the price change and all the effects in (b). Clearly label all axes, numbers and

notations, including the intercepts.
Ull (20%) Use a graph to show the effect of minimum wage on the labor market and use words to explain the

pros and cons of increasing the minimum wage under different situations.
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(a) (10%) Suppose a consumer’s utility function is U(Qx, Qy) = 2 Qx%* Qy®? ‘
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